-6PVLEV?2
N

=

=l

-5PVLEV1 -6PVLEV1

-4PVLEVT

o a—

-5PVLEV3

-5PVLEVL
=

L LPVLEV2
E=

"BMV" Eloszto
-INV1 Inverter
-INV2 Inverter
-INV3 Inverter
-INV4 Inverter

-3PVLEV3 -3PVLEV?

-3PVLEVL

=l

- N @ -
" =] o
am < |
K M —
n g LN o
Ve 55 | S| >
33 4 |
CF .||, 2|
Pr NEE |% oo |5 [
[ NeX [8¥ |3 [8
o OR¢e|E NS |2
.ﬂ%ﬂ S ol @
& lomﬂm = o =
\
e | O 284
<o $ PS¢ :
6o -
N =R >
) §éil. | | ©
\J 22 (v = N=}
n 7% | & < S
i RoE|E |3 e
= G Il . E
A © n g o m m, 2
(%] =z o et
[gv] o
v
\O =
o
mn
by €
n
m m| T
o -+ 3 N
=)
m o) - = |\
— >
n N = 518
o N| N s LN I A
n m| -
= = = ST
— —
o 1] a ol ¢
4 - | = .-— T — | N
r— o @ (SN} (V)] «n
(W) N -+ N 4 -~ -— -
[N > > \Q e 8 r%ﬂ
o =) o [
(<] B 0| B D N |s55 ,.m@m
%] n 25 =]
c md md (5} N 35| a5
(3] c M|l o mMl T [ aoP|Ea®|d
(m x~ 0 x O c XNl Q X~
= = cC g o= | Moo= | @
mn . N |- N HaoazZ|&az=| E
O Hel e [
[ T w) w @
%) %) [ m -
[72] o »n| © wn ) 0 —
(V2] a /H,a /M,a Q A £
\ — = = =) <
()] — >Z| > = i =
N |2 n Nl vy (= o N
[} o (L o L w @ [2a X X%
\O |— — 3| = 3 @ = ey .
o0 N R x 2| =
o |Y \O \O = =
= nelne| o | 52| I
Neo) ) 0 a 5 Sl e
= =
c lkx |Selgel al 22 |
\w o L2m|2m — = =] =
— X N | X N 1Y n o o|.2
23 =Z | 83 3t
N v - a [ [
' - T|a
o
(S s, Ll
c vl >
o o ..nl;@ﬁ
(1] 3 S g O ye|+
a ° i [T >
e o . o_m|R gof c
o 2 5 & T~ x| Y
= g 5 5 tR S5O |
= ) — >Z = |- 0=
<
L
L =
[a
aal <
= !
(W]
LE_
[amIll] 1l L
P
|
—
Ll
Lmv,
a_[T]
m
|



AutoCAD SHX Text
"BMV" Elosztó  -INV1 Inverter -INV2 Inverter -INV3 Inverter -INV4 Inverter


	Lapok és nézetek
	Elrendezés1


